CRYPTIC QUIZ

1. Why does Beethoven now spend all his time erasing music?
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2. What is it called when a sea bird lands on a channel marker?
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3. How does a tree feel after a hard day at work?
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solutlon appears, write the letter of that exercise above it.

TO DECODE THE ANSWERS TO THESE QUESTIONS:
Solve each equation below and find your answer in the code. Each time the
-3

©) su=3u+3s W= T
(N) 7y=33—4y 'uk’é
(E) 2x+48=10x A= b
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(H) 4x+4=2x+36 ﬂ(&&@
(D) oy~1=y-25 Val“B

OBJECTIVE 4-n: To solve equations having the variable in both sides.
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